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1 5% 25 EiEh 39 35 74
25% B¥ etih] 38 36 74
3EH EE et 36 38 74
4 5F% XK REZEH 40 35 75
Rl Eh W4T 36 39 75
BE IEA A 36 39 75
I & INFHR™ 35 40 75
gt ;&= MR 41 35 76
EER £F0 EiEh 40 36 76
mE B FEM 39 37 76
Hd #—B KRN 38 38 76
e &2 FEH 37 39 76
&R 888 ™ 36 40 76
14 IB% FA KZEH 39 38 77
JNaEl #wmth Ml 38 39 77
A5H BEX FEM 38 39 77
INR ETE ¥FHE™ 37 40 77
$]ARK IE—BR [MEEM 37 40 77
19 =@ EX FEH 41 37 78
INFR K FER 39 39 78
]}|R HK mEMRT 39 39 78
AL =& FEM 35 43 78
23 @A E= KEBET 40 39 79
BE &z NN ] 39 40 79
KR &5A evigisl 39 40 79
BH E & 39 40 79
21 B R— Ml 41 39 80
fEHE 175 EiEm 40 40 80
fRiE [E— =kl 40 40 80
BE BXBER wmim 40 40 80
=ME —H Ei&H 39 41 80
KAR # KEBAEH 39 41 80
2ZIl B {ENTE BT 38 42 80
£2Z B2z ARm 37 43 80
B/\K BEHEE N\FHKH 44 37 81
®A ER 5= 471 42 39 81
il B izl 41 40 81
FiR =KER MiEth 41 40 81
/R ® B EET 39 42 81
B x— MR 39 42 81
a1 IhF RRF] et 44 38 82
N EF] o am 44 38 82
WA BB HrFH 41 41 82
kg = 4T 4 4 82
BAR =— Lishil 4 4 82
Rk FHt B EHET 39 43 82
EH fEX gL 38 44 82
Ef =0 mR™ 38 44 82
49 #iK FHiE EiEm 45 38 83
ME &M KEBE™ 44 39 83
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EAR M— R 43 40 83
Al 1E FEM 42 M 83
K&z BT FNgam™ 40 43 83
54 MR B FEM 43 M 84
FiE %A ®BFH 42 42 84
AH FA FEH 42 42 84
k% AR am 41 43 84
HWE BX BiZh 41 43 84
59 BEIR E1T fMfE™m 44 41 85
Ll &k AREES 43 42 85
ngE 1EE /NN 41 44 85
kR K Bz wIH 41 44 85
+% A W4T 39 46 85
64 Hh & Jrut 40 46 86
BE IE FEM 40 46 86
2ok Y MR 38 48 86
67 /MR FIA XKIRT 45 42 87
ki B— INFHR™ 45 42 87
Al F1R MR 41 46 87
70 &4 RREA o am 46 42 88
WE X Ml 46 42 88
HhiE fE R E 42 46 88
0O EE FEH 41 47 88
74 X% @E AKEEH 46 43 89
Il g evigisl 45 44 89
Al £ kr¥m 45 44 89
77 BEE &k MR 47 43 90
BER £ AREEH 45 45 90
aH Ki R 43 47 90
FA E Ml 43 47 90
Johif] &ER — = HT 43 47 90
82 BEA B— etii] 45 46 91
B EA| e 41 50 91
84 E# FAH etii] 49 43 92
2R &sh FEH 46 46 92
Fik H= etii] 45 47 92
FEF {2 R 43 49 92
88 O B K HET 49 44 93
89 #H EIL XKIRM 47 47 94
=g M—E MET 44 50 94
91 BR = Il 51 52 103
ZiE Il B= M 0 o0 0
REEH = e
RE B =5 fatE
REHRE EA izl
RE BF BIT fatE
RE Wl & e
RE Bt EBIE )il
RE BE ®KA gt disl
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